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REAL NUMBERS AND LCM AND HCF

1. Find the successor of the number — 10.

B.10

C.9

Answer: D



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_FylnjpXebp3C

| o Watch Video Solution

2. Find the predecessor of —7.

o Watch Video Solution

2
3. Find two rational numbers between 7 and —.

7

o Watch Video Solution

4. Express 12.05 as rational number.

1193

99
1191
98
1198
93
1209

D. ——
99


https://dl.doubtnut.com/l/_FylnjpXebp3C
https://dl.doubtnut.com/l/_vCZLDzVRLYkw
https://dl.doubtnut.com/l/_GNLgKE7s7Jda
https://dl.doubtnut.com/l/_CdHmBCbc6u8A

1193

Answer:;
Wer 99

o Watch Video Solution

5. Express 0.225 as a rational number.

o Watch Video Solution

6. Find the value of (0.424242...) — (0.353535...).

o Watch Video Solution

7. Verify wheter 223 is a prime number or not .

o Watch Video Solution



https://dl.doubtnut.com/l/_CdHmBCbc6u8A
https://dl.doubtnut.com/l/_glNzhWKg7GJZ
https://dl.doubtnut.com/l/_AxFkiKQcxbpj
https://dl.doubtnut.com/l/_jM6ZkRDRS5ZP

8. From the set {2, 3,4, 5, 6, 7, 8, 9}, how many pairs of co-primes can

be formed?

o Watch Video Solution

9. Roshan wanted to type the first 190 whole numbers. Find the number

of times he had to press the numbered keys.

° Watch Video Solution

10. Find the units digit of 82°.

o Watch Video Solution

1. If the number 8764 x 5 is divisble by 9, then find the least possible

value of x, where x is a two -digit numbers.

| o WMilabkl . \tdaa CAlL:kiam


https://dl.doubtnut.com/l/_upAK5RB2l0s4
https://dl.doubtnut.com/l/_iLmH7bJw1iYl
https://dl.doubtnut.com/l/_wzkousRWTwen
https://dl.doubtnut.com/l/_qcMYsZKX7iWF
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12. Find the smallest six-digit number which when divided by 15 and 6

leaves a remainder of 2 in each case.

o Watch Video Solution

13. Find the GCD of 72 and 60

o Watch Video Solution

14. (a) Find the GCD of 24 and 36.

(b) Find the GCD of 12 ,18 and 24.

Al


https://dl.doubtnut.com/l/_qcMYsZKX7iWF
https://dl.doubtnut.com/l/_iNzuC40GIx7i
https://dl.doubtnut.com/l/_eS9e435W6Sly
https://dl.doubtnut.com/l/_FUhnSteabyYB

Answer:

o Watch Video Solution

15. Find the GCD of 64 and 56.

o Watch Video Solution

16. Find the GCD of 25, 45 and 75.

o Watch Video Solution

17. Find the LCM of 24b and 36.

° Watch Video Solution



https://dl.doubtnut.com/l/_FUhnSteabyYB
https://dl.doubtnut.com/l/_9FmMdxUrDmdo
https://dl.doubtnut.com/l/_t3Bir1ExKyEF
https://dl.doubtnut.com/l/_ZKKYb9apPwLX
https://dl.doubtnut.com/l/_IrQAk1UGo1Po

18. Find the LCM of 32 and 24.

o Watch Video Solution

19. Find the LCM of 12, 48 and 36.

o Watch Video Solution



https://dl.doubtnut.com/l/_IrQAk1UGo1Po
https://dl.doubtnut.com/l/_YhSfal8UVbKH

20. Find the LCM of 144 and 156.

o Watch Video Solution

21. Find the LCM of 12, 18 and 24.



https://dl.doubtnut.com/l/_ni6McNPXWu3j
https://dl.doubtnut.com/l/_a6Xxi5f7pYgG

| o Watch Video Solution

22.Find the HCF and LCM of %, % and %

o Watch Video Solution

Test Your Concepts Very Short Type

1. The natural number other than 1 which is not primeis __ number.

o Watch Video Solution

2. All odd numbers are prime numbers. Is this statement true or false?

o Watch Video Solution



https://dl.doubtnut.com/l/_a6Xxi5f7pYgG
https://dl.doubtnut.com/l/_BY03pvSjoCVQ
https://dl.doubtnut.com/l/_RahlYZYPNClL
https://dl.doubtnut.com/l/_YUNNFsnyQXa4

3. What is the least natural number?

o Watch Video Solution

4. \What is the number which has at least three factors called ?

° Watch Video Solution

5. What is the sum of ten odd numbers and eleven even numbers?

(even/odd)

o Watch Video Solution

6. The product of two positive integers and eight negative integers is a

o Watch Video Solution



https://dl.doubtnut.com/l/_FKqd07UDt33X
https://dl.doubtnut.com/l/_1yunFWy0YNrK
https://dl.doubtnut.com/l/_8OThkkDwLG84
https://dl.doubtnut.com/l/_E5io83mMrWfK
https://dl.doubtnut.com/l/_b3O5oE2Hv0uf

7. Two relatively prime numbers need not be prime numbers. Is this

statement true?

o Watch Video Solution

8.The greatest common factor of relatively prime numbers is

° Watch Video Solution

9. What is the least natural number?

Al

B.0

c.—-1

D. not defined

Answer: A

. I


https://dl.doubtnut.com/l/_b3O5oE2Hv0uf
https://dl.doubtnut.com/l/_w5B7icrTxEmZ
https://dl.doubtnut.com/l/_Nv0fXa1kf400

| ¥ Watch Video Solution |

10. What is the absolute value of -10?

° Watch Video Solution

11. Every recurring decimal isa ____ number.

o Watch Video Solution

12. How many rational numbers exist between any two rational

numbers ?

A.O

B.10

C. infinite numbers

D. 199100


https://dl.doubtnut.com/l/_Nv0fXa1kf400
https://dl.doubtnut.com/l/_nDV1wG7xVeM8
https://dl.doubtnut.com/l/_f1FqMcvY8qG6
https://dl.doubtnut.com/l/_lHFe3neFCF3v

Answer: Infinite rational number exist between any two rational

number.

° Watch Video Solution

13.Is 7 a rational or an irrational numbers?

° Watch Video Solution

14. Every rational number can be represented by some point on the

number line, is this statement true or false?

A. true

B. false

Answer: True


https://dl.doubtnut.com/l/_lHFe3neFCF3v
https://dl.doubtnut.com/l/_fXftbkgDdQ5V
https://dl.doubtnut.com/l/_HjJeXeA4EvYG

o Watch Video Solution

15. What is the multiplicative inverse of a, where a £ 0 ?

o Watch Video Solution

16. Prime numbers differeing by 2 are called

o Watch Video Solution

17.1f 23457a68 divisible by 9, then the lest value of a is

o Watch Video Solution

18. If x is divisible by both 3 and 5 ,jthen x is divisible by 15. is this

statement true ?

. I


https://dl.doubtnut.com/l/_HjJeXeA4EvYG
https://dl.doubtnut.com/l/_hwtOiuukMoWG
https://dl.doubtnut.com/l/_GfZ1NQSK3all
https://dl.doubtnut.com/l/_8tzo6ll4WOJk
https://dl.doubtnut.com/l/_Z4iTBz5hbM22

| ¥ Watch Video >Solution |

19. Pairs of numbers of the form (6k — 1) and (6k + 1) are twin

primes. Is this statement true ?

o Watch Video Solution

20.1fa /b, b/cthen the GCD of a,b,cis

o Watch Video Solution

21.1f 36 is exactly divisible by a, then the GCD of 36 and a is

o Watch Video Solution

22.The LCM of a and b is x. what is the LCM of ma and mb?

° Watch Video Solution



https://dl.doubtnut.com/l/_Z4iTBz5hbM22
https://dl.doubtnut.com/l/_IHDTubTeOcvR
https://dl.doubtnut.com/l/_SdTC2A0akWTy
https://dl.doubtnut.com/l/_BugMsKCo0c1f
https://dl.doubtnut.com/l/_3kfEWhnEQ7oR

23. Let a and b be two numbers. Then a x b = (LCM of a and b)

x( ).

° Watch Video Solution

24. What is the GCD of ma and mb, if the GCD of aand b is x ?

o Watch Video Solution

25.In the prime factorisation method of finding LCM, LCM is given by

prodcut of all the factors.

o Watch Video Solution

26. Let a and b two numbers p be their LCM and q be their GCD. Then q

in terms of LCM is


https://dl.doubtnut.com/l/_3kfEWhnEQ7oR
https://dl.doubtnut.com/l/_XOHussri3jcb
https://dl.doubtnut.com/l/_rQivKgAGfioI
https://dl.doubtnut.com/l/_jOce57khk2S4
https://dl.doubtnut.com/l/_SvkutT1YatlI

o Watch Video Solution

HCF of given fraction

" LCM of given fractions
HCF of numerators X HCF' of denominators

LCM of denominators x

o Watch Video Solution

28.1f z = a>. b> ,where a and b are prime factors of x, then numbers of

factors of x is

o Watch Video Solution

29. The units digit of the number 9% is

o Watch Video Solution



https://dl.doubtnut.com/l/_SvkutT1YatlI
https://dl.doubtnut.com/l/_XA8EexiLrVQl
https://dl.doubtnut.com/l/_GhBXnlfrAaIr
https://dl.doubtnut.com/l/_QKJdBKu2DuJC

Divided -Remainder

Divisor

30

o Watch Video Solution

Short Answer Type

1. How many prime number are there between 1and 50 ?

o Watch Video Solution

2. Which of the following numbers are rational? Also, identify the
irrational numbers.

@0—-—1+1

) %3

(&) —-

() /2

(8) —v/2


https://dl.doubtnut.com/l/_Vc9WJn5kpvIw
https://dl.doubtnut.com/l/_jux17pYmfTYT
https://dl.doubtnut.com/l/_DA8tLnVuTDUd

(h) v2 x /8

() —v/2 x /8

() (4 —2) (2 + %qer(2)>
(k) 9990

(14— %

° Watch Video Solution

3. Find the greatest and the least of the following rational numbers.

(a) —12,8, — 3,12, —8,3,0

o Watch Video Solution

4. Represent the following numbers on the number line.

(@ 00 ~ 180) 30 (1) 15 ) @325 - 475+ 3

o Watch Video Solution



https://dl.doubtnut.com/l/_DA8tLnVuTDUd
https://dl.doubtnut.com/l/_3dWC38AIw7R3
https://dl.doubtnut.com/l/_tlsQwohhpoxv

5. Obtain (i) one rational number and (ii) there rational numbers

1
between 3 and 3

o Watch Video Solution

6. Which of the following numbers are prime ? Why/ why not ?

(a)7(b)1(c)2(d)47(e)97( £)2011(g)111111

° Watch Video Solution

7. Identify the composite numbers from the following.

(a)1(b)2(c)4° + 13(d)6027(e)331(f)79

° Watch Video Solution

8. Which of the following numbers are divisible by 3?

(a)


https://dl.doubtnut.com/l/_IJdHfgE7of1U
https://dl.doubtnut.com/l/_sf2pCBcTP9nL
https://dl.doubtnut.com/l/_YHazFR2ppz3E
https://dl.doubtnut.com/l/_P4yzbEQ1Dgn5

121212(b)505550(c)4132(d) 453052(e) 97621 ( f) 182391(g) 165651 () 168681

o Watch Video Solution

9. Find the set of factors of 256.

o Watch Video Solution

10. Find the GCD of 156 and 936 using factors method.

o Watch Video Solution

11. Find the LCM of 1296 and 1728 using synthetic division method.

o Watch Video Solution

12.(a) Find the HCF f2 = d3
.(a) Find the of =, = and 7



https://dl.doubtnut.com/l/_P4yzbEQ1Dgn5
https://dl.doubtnut.com/l/_p86bbHQ4NXdv
https://dl.doubtnut.com/l/_iKdu7PxMz4Id
https://dl.doubtnut.com/l/_F1C04XA3qhmR
https://dl.doubtnut.com/l/_nBBbXLC6eIvK

| o Watch Video Solution

to its lowest terms.

13. Red 6912
-Reduce =0

o Watch Video Solution

14. The HCF of two numbers is 12 and their LCM is 144. if one of them is

36, find the other.

° Watch Video Solution

15. Find the greatest possible length of the rope which can be used to

measure two sticks of lengths 24 m and 18 m.

° Watch Video Solution

Essay Type Questions



https://dl.doubtnut.com/l/_nBBbXLC6eIvK
https://dl.doubtnut.com/l/_JWNRIZZKyQOz
https://dl.doubtnut.com/l/_MtqxHMKGkRf5
https://dl.doubtnut.com/l/_Q6D1ZtGr6W9T

1. Find the greatest number which divides 219 and 486 leaving

remainder 3 and 2 respectively.

° Watch Video Solution

2. Find the number of factors of 1498176 and also their sum.

° Watch Video Solution

3. A fruit vendor has 260 mangoes , 292 oranges and 220 apples. He
cells each of these fruits in a package containing the same number of
fruits in a package containing the same number of fruits of the same
kind and has found that 4 apples, 4 orangles and 4 mangoes are left
out.

Find the greatest possible size of the package. where size of the

package is defined as the number of fruits in each package.

° Watch Video Solution



https://dl.doubtnut.com/l/_6ZAJ2PswtdRD
https://dl.doubtnut.com/l/_jtbuTPfn1b0y
https://dl.doubtnut.com/l/_kP2Sx8gnBqyg

4. A fruit vendor has 260 mangoes , 292 oranges and 220 apples. He
cells each of these fruits in a package containing the same number of
fruits in a package containing the same number of fruits of the same
kind and has found that 4 apples, 4 orangles and 4 mangoes are left
out.

Find the minimum number of fruit packages.

o Watch Video Solution

5. A fruit vendor has 260 mangoes , 292 oranges and 220 apples. He
cells each of these fruits in a package containing the same number of
fruits in a package containing the same number of fruits of the same
kind and has found that 4 apples, 4 orangles and 4 mangoes are left
out.

If he sells each package of mangoes at X30, find the total selling price.

o Watch Video Solution



https://dl.doubtnut.com/l/_kP2Sx8gnBqyg
https://dl.doubtnut.com/l/_EbqFpsI1QsEw
https://dl.doubtnut.com/l/_DOQstIHJz5lz

Concept Application Level 1

1. What is the digit in the tens in the product of the first 35 even

natural numbers ?

A.6

B.2

C.0

D.5

Answer: C

o Watch Video Solution

2.73412130 is exactly divisible by

A3



https://dl.doubtnut.com/l/_DOQstIHJz5lz
https://dl.doubtnut.com/l/_cE0dyG23c1L5
https://dl.doubtnut.com/l/_lSHvjaSh9l9M

B. 1

C.7

D. Both (a) and (b)

Answer: D

o Watch Video Solution

1 2
3.T — —i
he LCM of 1 and 3 is

Al

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lSHvjaSh9l9M
https://dl.doubtnut.com/l/_s18xp1oDu8Lz

is

4.The multiplicative inverse of (z + 1) + |

A. -1
m+1+(w )
1
B. —1) —
(z —1) ]
r—1
72
r+1
72
Answer: C

° Watch Video Solution

5. Find the unit's digit in the product of the first 50 odd natural

numbers.

A.O
B.5

C.7


https://dl.doubtnut.com/l/_U3OOYAr2rqdy
https://dl.doubtnut.com/l/_srsr2cYkJKYG

D. None of these

Answer: B

o Watch Video Solution

6. How many composite numbers are in between 50 and 100 (inclusive

of 50 and 100)?

A.39

B. 40

C4

D. 42

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_srsr2cYkJKYG
https://dl.doubtnut.com/l/_ZRmv1Al339Kq

7. There are 20 balls. The balls are numbered consecutively starting
from anyone of the numbers from 1 to 20. For any case, the sum of the
numbers on all the balls will be a/an

A. Odd number

B. Even number

C. Prime number

D. Cannot say

Answer: B

° Watch Video Solution

8. Pick up the positive integers form the following numbers : (A) 0
(B)(—3) x(-3)
Q3 x(—3)

(D)3 x 3


https://dl.doubtnut.com/l/_0lgtLRJbRCcn
https://dl.doubtnut.com/l/_thy458hHI3yR

A.B

B.AandB

C.D

D.Band D

Answer: D

o Watch Video Solution

9. Find the absolute values of x — 2, where z < 2.

Axz—1

B.x + 2

C2—=zx

D. 2x

Answer: C



https://dl.doubtnut.com/l/_thy458hHI3yR
https://dl.doubtnut.com/l/_mN7HtPzOKNuz

[ W Watch Video Solution

10. Which pair of numbers below are twin primes ?

A.8and 9

B.2and 3

C.3and 7

D.41and 43

Answer: D

° Watch Video Solution

11. Which of the following values are even ?
(A)21 +18 +9+2+ 19

(B) 34 x 28 x 37 x 94 x 12712

(C) 33 x 35 x 37 x 39 x 41 x 43

(D)11 x 11 x 11 x 11 x 11 x .....


https://dl.doubtnut.com/l/_mN7HtPzOKNuz
https://dl.doubtnut.com/l/_TZiTeN0YJT41
https://dl.doubtnut.com/l/_mGcBY2Rrj4V1

(E) 110

(F)39 — 24
A.AB,C
B. DEF
C.B

D.AB,DE

Answer: C

° Watch Video Solution

12. Express the following rational numbers as decimals and identify
which of them are terminating ?
(A) L
2
(B) .
3

o1
()5


https://dl.doubtnut.com/l/_mGcBY2Rrj4V1
https://dl.doubtnut.com/l/_L4grQsdGevGW

© 2
6
1
(B) = (F)17(5)/(6)(G)3(N/(2)+8(1)/(4)(H)2"-4x3".
A. (A) and (B)
B. (C)and (D)
C.(A) (C) and (G)

D. (A),(C),(G) and (H)

Answer: D

° Watch Video Solution

13. If the numbers a — b and a+b" are twin primes then a and b are

necessarily

A. Twin primes

B. Co-primes

C. Cannot say


https://dl.doubtnut.com/l/_L4grQsdGevGW
https://dl.doubtnut.com/l/_zkNPQewHEDFT

D. None of these

Answer: B

o Watch Video Solution

14. Which of the following statements are / is true ?

A. The proudct of two irrational numbers is always irrational.

B. The sum of two irrational numbers is always irrational.

C.Both (a) and (b)

D. None of these

Answer: D

o Watch Video Solution

15. The absolute value of 12 x ( — 3) + 12 — 15is


https://dl.doubtnut.com/l/_zkNPQewHEDFT
https://dl.doubtnut.com/l/_2vL4VkgSoIJv
https://dl.doubtnut.com/l/_BwUs4E2H0Qgy

C.39

D. 41

Answer: C

° Watch Video Solution

16. In the set of rational numbers, multiplicative identifyis  and

the additive identityis

C.0,0

D.1,0


https://dl.doubtnut.com/l/_BwUs4E2H0Qgy
https://dl.doubtnut.com/l/_5Ek5t9PGKXQF

Answer: D

o Watch Video Solution

17.fa,b € Panda-b, € P.ThenPis under the operation -

A. Associative

B. Commutative

C.Closed

D. Distributive

Answer: C

o Watch Video Solution

18. What is the number in the units place of (763)%* ?

Al


https://dl.doubtnut.com/l/_5Ek5t9PGKXQF
https://dl.doubtnut.com/l/_1iy56a98xtsc
https://dl.doubtnut.com/l/_p45BWsIr5aOu

B.3

C.7

D.9

Answer: A

o Watch Video Solution

19. The HCF of all the natural numbers from 200 to 478is

A2

B.1

C. 478

D.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_p45BWsIr5aOu
https://dl.doubtnut.com/l/_HTEi9tjVVNdL

20. Find the greatest number that divides 59 and 54 leaving
remainders 3 and 5 respecitvely.

A3

B.7

C.8

D.5

Answer: B

° Watch Video Solution

21. Find the HCF of the first 100 natural numbers.

A2

B.7

C.1


https://dl.doubtnut.com/l/_kYsBb2PPndfm
https://dl.doubtnut.com/l/_LT7wSuRvJsu5

D. None of these

Answer: C

o Watch Video Solution

22. Find the units digit in the expansion of (44)** + (55)% + (88)%.

A7
B.5
C.4

D.3

Answer: A

o Watch Video Solution

23.Find the least number exactly divisible by 36 and 24.


https://dl.doubtnut.com/l/_LT7wSuRvJsu5
https://dl.doubtnut.com/l/_HUHIUyHdb9pA
https://dl.doubtnut.com/l/_UfohYGWdswme

A. 144

B.72

C.64

D.324

Answer: B

o Watch Video Solution

24. Find the digit in the units place of (676)%.

A.9
B.2
C.4

D.6

Answer: D



https://dl.doubtnut.com/l/_UfohYGWdswme
https://dl.doubtnut.com/l/_kK65rPrWLCVv

[ W Watch Video Solution

25.The LM of —, >, 2 and L |
. Ihe OE,E,Ean 1—75
A. 60
5 L
" 60
C.180

D. None of these

Answer: A

° Watch Video Solution

26. Find the number of factors of 1080.

A. 32

B. 28


https://dl.doubtnut.com/l/_kK65rPrWLCVv
https://dl.doubtnut.com/l/_Izo3hGRCozNN
https://dl.doubtnut.com/l/_4s56Mfx6FKDr

C.24

D. 36

Answer: A

o Watch Video Solution

27.1f p,q and r are prime numbers such that r = ¢+ 2 and ¢ = p + 2,
then the number of triples of the form (p, ¢, r) is

A.O

B.1

C.2

D.3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4s56Mfx6FKDr
https://dl.doubtnut.com/l/_aaiLXSi2WB27

28.1f a € N and 1 < a < 20, then find the number of prime numbers

in the form of ba + 1.

A4

B.5

C.6

D.7

Answer: C

° Watch Video Solution

29. The GCD of two numbers is 128 and their LCM is 256. Then their

product is

A. 38028

B. 36868


https://dl.doubtnut.com/l/_56PwXCR0d38G
https://dl.doubtnut.com/l/_GPDsxlGb42Lm

C. 32768

D. Data inconsistent

Answer: C

o Watch Video Solution

30. The absolute value of 25 — (25 + 10) + 25 + 125 x 25 is

D.5

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GPDsxlGb42Lm
https://dl.doubtnut.com/l/_tglM9vccvrE1
https://dl.doubtnut.com/l/_j8iKuO1uF3Po

31. Find the LCM of 12, 48 and 36.
The following are the sequential order from the first to last.
(A) 12 = 2% x 3!, 48 = 2¢ x 3!, 36 = 22 x 32
(B)LCM =2' x 3 =16 x 9 = 144
(C) Resolving the given into prodct of prime factors.
A. ACB
B. ABC

C.CBA

D. CAB

Answer: D

° Watch Video Solution

3 4
32.Find the GCD of the fractions 7 and 1—70 The following are the

steps involved in solving the above problem. Arrange them in the

sequential order.


https://dl.doubtnut.com/l/_j8iKuO1uF3Po
https://dl.doubtnut.com/l/_lAP0716zDYTj

GCD of numerators
LCM of denominators

(A) We have, the GCD of fractins =

1
B) Th ired GCD = —
(B) The rquire 0

(C) The GCD of 3, 4, 7, is1, . The LCM of 5, 7 and 10:s70.

A.ACB
B. CBA
C.BAC

D.BCA

Answer: A

o Watch Video Solution

33. Find the sum of 3. 2 and 5. 4.


https://dl.doubtnut.com/l/_lAP0716zDYTj
https://dl.doubtnut.com/l/_wHFAkbelSJOP

Answer: D

o Watch Video Solution

1. The greatest five digit numberf exactly divisible by 9 and 13 is

A. 99945
B. 99918
C. 99964

D. 99972

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wHFAkbelSJOP
https://dl.doubtnut.com/l/_YrpqRQJgPMC6

1
2. What is the multiplicative inverse of a — —

a

Answer: D

° Watch Video Solution

3. If the number 2345p60q is exactly divisible by 3 and 5, then the

maximum value of p + qis

A 12
B.13

C.14



https://dl.doubtnut.com/l/_qayDG745ncFc
https://dl.doubtnut.com/l/_uRXd6dq0rmg2

D.15

Answer: B

o Watch Video Solution

4.The absolute value of |z — 2| + |z + 2[,if0 < & < 2is

A 2x
B.4

C.2(z +1)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uRXd6dq0rmg2
https://dl.doubtnut.com/l/_qI6luUHMAjUZ

5.1f 1 < k < 25, how many prime numbers are there which are of the

form6k + 17

D.18

Answer: B

° Watch Video Solution

6. If a, b, c and d are four positive real numbers such that sum of a, b

and cis even the sum of b,c and d is odd, then a®> — d? is necessarily

A. odd

B. Even


https://dl.doubtnut.com/l/_3rcYiW4yktJm
https://dl.doubtnut.com/l/_890ibQnQMYGd

C.Prime

D. Either (a) or (b)

Answer: A

o Watch Video Solution

7. Mukesh bought 3 apples, 5 bananas and 7 custard apples for a
certain amount (which is even). The cost of apples, bananas and
custard apples could be( in Rs.)

A.5,79

B.9,8,6

C.245

D.9,10,1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_890ibQnQMYGd
https://dl.doubtnut.com/l/_IOgV8FKAKLaZ

8.In a class there are 72 boys and 64 girls. If the class is to be divided
into least number of groups such that each group contains either only
boys or only girls, then how many groups will be formed ?

A 17

B. 34

C.24

D. None of these

Answer: A

° Watch Video Solution

9. The HCF of two numbers, obtained in three steps of division, is 7 and

the first 3 quotients are ,4 and 6 respectively. Find the numbers


https://dl.doubtnut.com/l/_IOgV8FKAKLaZ
https://dl.doubtnut.com/l/_u0O8ODdBTeDV
https://dl.doubtnut.com/l/_QkOH1hcxsDCN

A.175392

B. 189392

C. 168385

D. None of these

Answer: A

° Watch Video Solution

10. Find the greatest four digit number which when divided by 18 and
12 leaves a remainder of 4 ineach case

A. 9976

B. 9940

C. 9904

D. 9868


https://dl.doubtnut.com/l/_QkOH1hcxsDCN
https://dl.doubtnut.com/l/_ns4eGtObH8ku

Answer: A

o Watch Video Solution

1.1f m is prime, n is a composite number and m 4+ n = 240 also their

LCM is 4199. Find m and n.

A. 13227

B.17223

C. 19221

D. 23217

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ns4eGtObH8ku
https://dl.doubtnut.com/l/_yfrIcGZ4Ticy

12. If the seven digit number 4567.X75 is divisible by 15 then find the

least possible value of X.

A2
B.1
C.o0

D.3

Answer: A

o Watch Video Solution

13.The abolute value of |[4 — z| + [z — 4|, if 0>z > 4is

A.O
B. 2x

C.8


https://dl.doubtnut.com/l/_QGRzO3SGwIT4
https://dl.doubtnut.com/l/_GLv6ST9FaaqF

D.2(4 — x)

Answer: D

o Watch Video Solution

14. Find the maximum possible length of the rope which can mesure 48
m and 36 m.

The following are the stpes involved in solving the above problem.
Arrange them in the sequntila order.

(A) the greatest possible length is the HCF of 48 m and 36m.

(B) The HCF of 48 and 36 = 2° x 3 = 12.

(C)48 = 2% x 3,36 = 22 x 3%

(D) The greatest possible length of the rope = 12m.

A. ABCD
B. ACBD

C. ADBC


https://dl.doubtnut.com/l/_GLv6ST9FaaqF
https://dl.doubtnut.com/l/_i1fxWFystGWT

D. BACD

Answer: B

o Watch Video Solution

15. Three bells toll at intervals of 12 min, 24 min and 9 min respectively.
If they toll togather at 11.00 a.m. then find the time at whcih they toll
togather again for the first time. The Following are the steps involved
in solving the above problem. Arrange them in the sequential order. (A)
We know that the three bells toll togather at the multiples of LCM of 12
min, 24 min and 9 min. (B) After 11 a.m. they toll togather at (11 a.m.+ 72
min ) i.e, 1212 p.m. (C) THe LCM of 12, 24 and 9 is 72. (D) Therefore, all

the three bells toll togather for every 72 min.

A. ABCD

B. ACDB

C. DBAC


https://dl.doubtnut.com/l/_i1fxWFystGWT
https://dl.doubtnut.com/l/_mYVL3OL2vmaI

D. DABC

Answer: B

o Watch Video Solution

16. The unit's digit of the product of the first 100 even nautral numbers

is

A.O

B.2

C.4

D.8

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mYVL3OL2vmaI
https://dl.doubtnut.com/l/_D9scJUyGBTl3

17.The LCM of 100 and 101is ____

A.101000

B. 10001

C. 10101

D. None of these

Answer: A

° Watch Video Solution

18. The HCF of 100 and 10Tis

Al

B.7

C.37

D. None of these


https://dl.doubtnut.com/l/_F51CXPjBDO5j
https://dl.doubtnut.com/l/_y3aedjW96t1i

Answer: A

o Watch Video Solution

1. Rahul wanted ot type the first 180 natural numbers. Find the number

of times he had to press the numbered keys.

A.384

B. 433

C. 416

D. 448

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_y3aedjW96t1i
https://dl.doubtnut.com/l/_hcFQ0f0bsyJH

1. A note book is made up of sheets folded in the middle and stapled.
Each sheet form two leaves i.e., four pages. On removing some papers
of the first half and second half of the book, Joe found the number of
the leaves, in the first case as odd and in the second case as even. If the
sum of the numbers of the pages on the last leaf of the book is 63,
then what could be the maximum possible sum of the numbers on the

pages of leaves that were left in the book.

A. 435
B. 420
C. 451

D. 471

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dHVtFi8CxTgQ

1. Two groups consisting of 108 and 156 students particupate in sports
meet. In how many rooms can all these students be accommodated at
the minimum if all the rooms should have equal number of studets and

no two students in a room should be form different groups ?

A 22

B. 20

D.13

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_K96plOqJNgFt
https://dl.doubtnut.com/l/_nBZwzJZABlo8

1. Raj wanted to type the first 200 natural numbersshow many times

does he have to press the keys

A.400

B. 365

C. 492

D. 489

Answer: C

° Watch Video Solution

1L1f5 <4K + 1 < 29, then find the maximum num- ber of co-primes

formed from the possible valuesof K?

A.15


https://dl.doubtnut.com/l/_nBZwzJZABlo8
https://dl.doubtnut.com/l/_RNhurSiuKS3m

B. 1

D.17

Answer: D

° Watch Video Solution

1. The GCD of two numbers is 4 and their LCM is 400. How many pairs

of values can the numbers assume?

Al

B.2

C.3

D.4



https://dl.doubtnut.com/l/_RNhurSiuKS3m
https://dl.doubtnut.com/l/_ISitF3iPDQvN

Answer: B

o Watch Video Solution

1. The LCM of two numbers is 1024 and one of them is a prime numbers

. Find their GCD.

A3

B.2

C.5

D.7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ISitF3iPDQvN
https://dl.doubtnut.com/l/_s0B7l4YKEm5G

Level 10

1. Two groups consisting of 234 boys and 286 girls are to participate in
a drill. In how many minimum rows can all the students be divided so

that any given row either consists of only boys or only girls ?

A.20
B. 22
C.24

D.18

Answer: A

° Watch Video Solution

Level 11



https://dl.doubtnut.com/l/_Oyy00qoQv2TQ

1. The GCD of two numbers is 17 and their LCM is 765. How many pairs

of values can the numbers assume?

Al
B.2
C.3

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_R6Me7CY4fUfR

